POWER VISION 3 MOUNT

2020-2021 Can-Am X3

X
1 MOUNT BASE 1 BOLT (6X45MM)
1 EXTENSION ARM 2 SCREW (5X18MM)

1 CLAW MOUNT

PLEASE READ ALL DIRECTIONS BEFORE STARTING INSTALLATION.

X
161300092.01

DYNOSET



INSTALLATION INSTRUCTIONS

1 On the left side of the dashboard, remove the existing torx
bolt.

2 Using the supplied 6x45mm bolt, secure the base mount
to the dashboard.

3 Using the supplied 5x18mm screws, secure the extension
and claw mount as shown.

INSTALL BASE AND CLAW MOUNT
/

BASE, EXTENSION, AND CLAW MOUNT

2 2020-2021 CAN-AM X3 INSTALLATION GUIDE



PUSH
THE
LIMIT

2191 MENDENHALL DRIVE, NORTH LAS VEGAS, NV 83081 - 800-992-4993 - DYNOJET.COM
© 2021 DYNOJET RESEARCH ALL RIGHTS RESERVED



